A normal chest X-ray
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Why can the radiologist see your bones?
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Adipose Tissue
density = 0.9 g/cc
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Photon Energy,

Seventy percent of bone is made up of the
inorganic mineral hydroxyapatite, which
includes calcium phosphate, calcium carbonate,
calcium fluoride, calcium hydroxide and citrate.
{Elements Ca, P, O, H} 405.c5
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A normal chest X-ray
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Computed Tomagraphy (CT)

During a computerized tomography (CT) scan,
a thin X-ray beam rotates around an area of the body,
generating a 3-D image of the internal structures

Eeew! Gross!
CT abdomen
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K1s L,2s L,2p;,  L32py,  Mi3s My3py, Mg3ps, M,3ds,
80,725. 14,353. 13,734, 11919. 3/425. 3,148. 2,743. 2,291.
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